








Find the option which should replace (?)

324 + 289 = 35

441 + 484 =  43

625 + 400 = 45

256 + 729 = ?

(A) 29

(B) 43

(C) 40

(D) 37



Find the option which should replace (?)

Truth : Artificiality = Expert : ?
स×य: कृǒğमता = ͪवशषे£:? 

(A)  Newbie / नौͧसͨखया
(B)  Hobo /आवारा
(C)  Connoisseur / ͪवशषे£
(D)  Representative / ĤǓतǓनͬध



Six people are standing in row . D is third to the right of F . F is second 

from A and B . C is second to the left of D but not neighbour of B.

Who sits extreme left in the row ? 

छह लोग पंिĉ म¤ खड़े ह§। D, F के दाय¤ तीसरा है। F, A और B से दूसरा है। C, D के बाय¤ 

से दूसरा है लेिकन B का पड़ोसी नहé है।

पंिĉ म¤ सबसे बाय¤ कौन बैठता है?

(1)  F 

(2)  E

(3)  A 

(4)  B



Find the ODD option (?)

A. 3614

B. 2723

C. 3453

D. 1733



Find the option which should replace (?)

3 , 3, 6, 3, 9 , 3 , ?

A. 11

B. 15

C. 12

D. 27



Find  the number of triangle (?)

(A) 10

(B) 11

(C) 16
(D) 30 



Which of the following diagrams indicates the best relation 

between (Bank , Manager , Clerk) / (बɇक, Ĥबंधक, Èलक[ )

A. B .C .D.



Find the option which should replace (?)

mnonopqopqrs_ _ _ _ _ 

A. mnopq

B. pqrst

C. oqrst

D. qrstu



Two positions of a dice are shown below. When there are 

two dots at the bottom, the number of dots at the top 

will be

A.3

B.5

C.6

D.Can not be determined



Q. Statement:

1. Sachin is a good cricketer

2. Sachin’s sister sings well.

Conclusion:

1. Sachin & his sister are good cricketers.

2. Sachin & his sister are talented.

ÿ. कथन :

1. सिचन एक अ¸छा िøकेटर है

2. सिचन कì बहन अ¸छी तरह गाती ह।ै

िनÕकषª:

1. सिचन और उनकì बहन अ¸छे िøकेटसª ह§।

2. सिचन और उनकì बहन ÿितभाशाली ह§।



Q.Statement: All available cultural records indicate that even in ancient India, people

valued not the quantity but the quality of knowledge.

Conclusion -

(I) Giving importance to quantity of knowledge is meaningless.

(II)People had identical mindset about knowledge.

ÿ. कथन: सभी उपलिÊधया सांÖकृितक åरकॉडª कì ओर इिंगत करती ह§ िक ÿाचीन भारत म¤ भी लोगŌ ने

माýा नहé बिÐक ²ान कì गणुव°ा को महÂव िदया।

िनÕकषª -

(I) ²ान कì माýा को महÂव दनेा अथªहीन ह।ै

(II) लोगŌ कì ²ान के बारे म¤ समान मानिसकता थी।



Q.Statement: Perseverance is key to success.

Conclusion:

(I) Only perseverance leads to success.

(II) Success has only one key.

ÿ. कथन : ŀढ़ता सफलता कì कंुजी ह।ै

िनÕकषª:

(I) केवल ŀढ़ता ही सफलता कì ओर ले जाती ह।ै

(II) सफलता कì केवल एक ही कंुजी ह।ै



Find the odd one out(?)

A. Wall clock / दीवार कì घडी

B. Painting /िचý

C. Photo frame /फोटो Āेम

D. Carpet /गलीचा



Find the option which should replace (?)

2353 : 30 :: 4215 :  ?

A. 30

B. 32

C. 35

D. 39



From the given alternative words, select the word which can be formed using the letters of the give 

word :

िदए गए वैकिÐपक शÊदŌ से, उस शÊद का चयन कर¤ िजसे शÊद के अ±रŌ का उपयोग करके  बनाया जा सकता है:

ENTHYMEMATICAL

(1) MYTHICALLY

(2) NYCTALOPIA

(3) ENTANGLE

(4) ENTAIL



Arrange the words given below in a meaningful sequence.

1.Heel/ एड़ी
2. Shoulder/ कंधा
3. Skull/ खोपड़ी
4. Neck/ गद[न
5. Knee / घुटने
6. Chest/छाती 
7. Thigh/जांघ
8. Stomach/ पेट
9. Face/ चेहरा
10. Hand/ हाथ

A.3, 4, 7, 9, 2, 5, 8, 10, 6, 1

B.3, 9, 4, 2, 10, 6, 8, 7, 5, 1

C.2, 4, 7, 10, 1, 5, 8, 9, 6, 3

D.4, 7, 10, 1, 9, 6, 2, 5, 8, 3



Arrange the words given below in a meaningful sequence.

1.Heel/ एड़ी
2. Shoulder/ कंधा
3. Skull/ खोपड़ी
4. Neck/ गद[न
5. Knee / घुटने
6. Chest/छाती 
7. Thigh/जांघ
8. Stomach/ पेट
9. Face/ चेहरा
10. Hand/ हाथ

A.3, 4, 7, 9, 2, 5, 8, 10, 6, 1

B.3, 9, 4, 2, 10, 6, 8, 7, 5, 1

C.2, 4, 7, 10, 1, 5, 8, 9, 6, 3

D.4, 7, 10, 1, 9, 6, 2, 5, 8, 3



Find odd word from the given alternative.

िदए गए िवकÐप म¤ से िवषम शÊद ²ात कìिजए |

(A) LMPRT
(B) NPRTV

(C) HJMOR

(D) DFHJL



Find odd word from the given alternative.

िदए गए िवकÐप म¤ से िवषम शÊद ²ात कìिजए |

(A) P32B
(B) C24H

(C) M65E

(D) N85F



Find the option which should replace (?)

11529 : 72135 :: 152943 : ?

(A) 213549

(B) 203448

(C) 163044
(D) 620345



Five children take part in a tournament. Each one has to
play every other once. How many matches must they
play?

एक टूनाªम¤ट म¤ पांच ब¸चे भाग लेते ह§। ÿÂयेक ब¸चे को एक-दूसरे से एक बार खेलना पड़ता है।
उनके िकतने मैच जŁर खेलना चािहए?

(A) 8 (B) 10

(C) 24 (D) 30



Find the option which should replace (?)

5/23 : 7/47 :: 11/119 : ? 

A. 13/165

B. 17/167

C. 15/171

D. 13/167



Arrange the in Meaning order :-

1. Bungalow / बंगला
2. Flat / Ýलैट
3. Cottage / कुǑटया
4. House / मकान
5. Palace / महल
6. Mansion / हवेलȣ 

A-3, 2 ,4,1,6,5

B- 1,5,4,2,3,6

C- 4,2,3,1,5,6

D- 5,1,4,3,2,6



Find the option which should replace (?)

(A) 48

(B) 60

(C) 58

(D) 47

DU 51 GS

LP ? QM

JO 57 RN



Find the ODD option (?)

A. 24 : 121

B. 14 : 49

C. 16 : 64 

D. 34 : 289



Find the option which should replace (?)

CAT = 23

DEG = 55

HERO = ?

A. 320

B. 340

C. 520

D. 180



Find the ODD option (?)

A. 313

B. 223

C. 242 

D. 339



Find out the alternative figure which contains figure (X) 

as its part.

(X) (1) (2) (3) (4)

A.1

B.2

C.3

D.4



Find out the alternative figure which contains figure (X) 

as its part.

(X) (1) (2) (3) (4)

A.1

B.2

C.3

D.4



Find minimum number of straight lines in
figure?
आकृित म¤ सीधी रेखाओ ं कì Æयनूतम सं´या ²ात कìिजए?

(A) 11 (B) 13

(C) 15 (D) 21


